M HEERRSHERE/IRAF

CRABIBEXNRKEER

P

ik TTHRET M ERIDERESS R X

FIE: (020)84741126 84741103 84733693 34733431

f£E: (020) 34733016 MB4m: 511483

E-mail:pyzxfire@21cn.com  http://www.pyzhenxing.com



http: / iwww . pyzhenxing . com

N = T = T T = N SN SN S (Y

HFC-227ea
C )
2.1 : 40L/70L/100L/120L/150L/180L
2.2 20 : 2.5MPa/4.2MPa
.2.3 (50 ): 3.4Mpas5.3MPa
2.4 :
.2.5 : DC24V/1.5A
.2.6 ;< 1150kg/m®
2.7 - <8s
.2.8 0 -0
.2.9 1 < 2Kg/
1
%3k
—
L—

ENtEs HH




http: / iwww . pyzhenxing . com

3.2
3.21
322 QF
@D :
)
a.
b. 2
®3)
(mm) (Kg)
L (mm) (m) (mm)
QF40 EP40 40 40 5.9 250 1180 25
QF70 EP40 70 40 6.2 310 1360 57
QF100 EP40 100 40 6.5 340 1430 72
QF120 EP40 120 40 6.8 385 1630 85
QF150 EP40 150 40 7 450 1590 151
QF180 EP40 180 40 7.2 480 1500 165
%@% &
- EhEk
]
o EXZShy
4R, E A& x
A,
\ /




http: / iwww . pyzhenxing . com

323
@

)

3

Q) 20 (mm) (mm) ur )

ZEPD6-4.5 4.5 6.0+ 1.0MPa |DC24V/1.2A 110 780 11 M14x 1.5

ZEPD6-7.5 7.5 6.0+ 1.0MPa |DC24V/1.2A 150 800 18 M14x 1.5

ZEPD6-10.5 | 10.5 6.0+ 1.0MPa |DC24V/1.2A 150 980 25 M14x 1.5

323
@

)

3

KYQD4 12MPa < 0.2MPa DC24V/ 3A

324
1)
2



http: / iwww . pyzhenxing . com

4.

4.1
411

412

4.1.3

414

4.15

4.1.6

4.2
421

4.2.2

4.2.3

1~2

1A)

6Mpa

18V



http: / iwww . pyzhenxing . com

424

4.2.5

5.1.2

5.2
521
5.2.1
5.2.2

€Y

)
®

30

SMpa



http: / iwww . pyzhenxing . com

5.2.3
@
)
®
©)

5.2.2

€Y)
2 M12x 1

®
a. 2.6Mpa(2.5Mpa ) 4.3Mpa(4.2Mpa )
b. 8Mpa

Q)
®

5.2.3



http: / iwww . pyzhenxing . com

6.
6.1
6.1.1
6.1.2
6.1.3
2.1.4.1
6.2
6.3
6.4
6.5
1 2. )
3 4 v 1 @
) (
EFP (
EP40 (
ZEPD6 (
(
(
(
QF ) ( )




